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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries 10

marks and may have a, b as sub quest10ns

1.a)  What is turing test?

b) Define Al. Write the applications of Al
¢) Define Modus Ponen’s rule in Propositional logic.
d)  Write the following in a predicate logic.

There js.a barber who shayes all men in town who do not shave themselves R
No pérson likes a/ professor unless/ he professor s -
4 e) /Whatisontology in A2 ; i ;
f)  What do you mean by Knowledge representatlon‘?
g)  Quote an example for planning graph.
h) What is the signiﬁcance of planning in Al systems?
i)
., J)

(50 Marks)

2.a) What is an intelligent agent? Write the structure of intelligent agent?

b)  Write about Breadth first search algorithm? [5+5]

OR

From, the-. Al llterature to-write whether -ornot the followmg tasks cap, currently be solved
by. camputers 4 P fa; |
‘1) Playing'a decént game of table’ tenms (pmg-pong)

ii) Playing a decent game of bridge at a competitive level.

iii) Discovering and proving new mathematical theorems.

iv) Writing an intentionally funny story.

v) Giving competent legal advice in a specialized area of law.
vi) Translating spoken English into,spoken, Swedish.in real time. 5
Would a bidirection aliA* search béa good idea? Underx_what COrldlthr]S WOuld it be

/appli¢able? Describe:iow-the algorlthm would work. & ™. A S [3+ Is
4, Explain in detail about adversarial search. [10]
OR
5. What is constraint satisfaction problem and explain with an example how it is solved

[10]




T 11) An offsprmg of a horse isa horse
iii) Bluebeard is a horse.

iv) Bluebeard is Charlie's parent.

v) Offspring and parent are inverse relations.

vi) Every mammal has a parent.
Explam ‘with an example about forward and backward chammg.

What"ts resolutmn‘? Use resolunon and $olve the gwen problem
Jack owns a dog. Every dog owner is an animal lover. No animal lover kills an animal.
Either Jack or Curiosity killed the cat, who is named Tuna. Did Curiosity kill the cat?

b) List out the different types of reasoning systems. Differentiate monotonic and non

monotonic reasoning? [6+4]

9. Some domams have resources that are monotomcally decreasmg or 1ncreasmg For
example, time is monotonically increasing, and if there is a Buy operator, but no Earn, Beg,
Borrow, or Steal, then money is monotonically decreasing. Knowing this can cut the search
space: if you have a partial plan whose steps require more money than is available, then

you can av01d conSIdermg any of the pos31b1e completlons of the plan

" monotonic resources in planmng [10]

10.a) Is probabilistic reasoning monotonic or nonmonotonic? Do these concepts even apply to
probabilities?

b) After your yearly checkup, the doctor has bad news and good news. The bad news is that
yeu tested posmve for-a serious~disease, and that the-test is 99% .accurate (i.e, the™.
_,probablhty of testmg rposmve glven-Ihat you have! the disease is 0,99; as is'the probabllity
“of tésting negative given that you don't'have the'diseasé): The gdod news-is that this is a"
rare disease, striking only one in 10,000 people. Why is it good news that the disease is
rare? What are the chances that you actually have the disease? [4+6]

OR

11.a) What is inductive learning? Explain with example.

b) With the block diagram explain the,general model for learning.

[4+6]
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